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GENERAL INSTRUCTIONS TO THE EXAMINEES :

1. S gaueT 3 U9 U9 ) AR 37 qad: e |

Candidate must write first his / her Roll No. on the question
paper compulsorily.

2. WA UFH TRl FUSH TURR B HA YHR H I / 3R / ST
T T T T % U i TE g |

If there is any error / difference / contradiction in Hindi &
English versions of the question paper, the question of Hindi
version should be treated valid.

3. G U o AT #

All the questions are compulsory.

4. Yo Y T IR & TE STR-YRasH § & o |

Write the answer to each question in the given answer-book only.
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5. W9 U % UH ¥ I YUFH GHH h a9 €, 3T G 9W N EA Th
g Faq G |

For questions having more than one part carrying similar marks,
the answers of those parts are to be written together in
continuity.

6. WWZ@SW%HW%I
Question Nos. 2 to 5 are very short answer type.

7. WA HHE 1 % IR 9 (i, i, iii 997 iv) €1 T 91 % I & OR

FHeT (31, &, § T T ) &1 WE THeT H IWER IW-YRAFN |

TAHTHEN AT efehl dTeh g :

There are four parts ( i, ii, iii and iv ) in Question No. 1. Each part
has four alternatives A, B, C and D. Write the letter of the correct
alternative in the answer-book at a place by making a table as

mentioned below :

U9 SHHIF el I HT HHIER

Question No. Correct letter of
the Answer

1. (i)
. (i)

. (i)

—

—

—

. (iv)

1. () G SEEY H TRT F JENE & o ahAh I T E ?

(31) =rr IR () BT FREEH

(F) =TT T (®) == Ul
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What is the technical word for data repetition in a database ?

(A) Data integrity (B) Data inconsistency

(C) Data redundancy (D) Data repeating. %
(i) G 29T § ST S 3@, GURA Ud SR & WIH & §

(a0 wm (@ TS

(@ == () e

What is used to see, correct and fill data in a table ?

(A) Form (B) Record

(C) Query (D) Report. %

(i) mod (45, 10) T T IUMH T EAT ?

(31 4 @ 5

& 10 ®) 4.
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What is the result of mod (45, 10) ?

@A) 4

(C) 10

(ivy SRI%SFEME

(31) T

) THIEA

Views of data are

(A) internal

(C) external

2. oS UAH YO EY FME ?

What is the full form of DDL ?

(B)

(D)

€))

@)

(D)

4-5.

~

T 9 T

logical

all of these.

F TRE T[T B HT 3 YT R HaT &l & 2

What is the maximum size of a text type field ?
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4. ALTER HHUE &g & § 377l & 2

What is the use of ALTER command ? %
5. TUAZT H YT 5 |

Define entity. %
6. RDBMS % Td SUANT &l I & ?

Who are the main users of RDBMS ? 2
7.  Normalization T & ?

What is normalization ? 2
8.  HATHS THRAT ¥ T T T € ?

What do you understand by Functional dependency ? 2
9. TRTSW % N AT § ?

What are the advantages of database ? 2
10. TR T E ?

What are macros ? 2
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12.

13.

14.

15.

16.

17.

TGS | 39 T G € ?

What do you understand by exporting ?

TR T E 2 T HY a9 § 2

What is subform ? How is it created ?

IFFA Y 3T AT TH & 2

What do you understand by sequences ?
MS-Access | W & act & 9 12T TR 1 JUM i 5T |
Explain the various data types used in MS-Access.
TE-FR T € ? 3T H e HHehed |

What is sub-query ? Explain with example.

TSTe & §RT 29 a1 o U8 A & |

Write down the steps to create a table with design view.

T g U H Ut d 9 Date %ol sl GHEY |

Explain the different Date Functions available in SQL.
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18. S G U UH T 331eT0T H&d dui ohi o |

Explain BCNF with example. 4

19. UG ] UA H YT hed TR % &Id € ? F0H HI ST |

How many types of constraints are there in SQL ? Explain. 4
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